12/05/18 nistigrt58417 35.ppp_defaut+1d-15

136 1 1 1 I 1

135 — ffgg
| £

134 — hd

133 —

nanosecond

132

131 —

130 T I T I T I T I

58424 58432 58440 58448

MJD

Mdev

Tdev /s

615071 s: Mdev= 0.19939E-14 Tdev= 708 ps
307536 s: Mdev= 0.17229E-14 Tdev= 306 ps
153768 s: Mdev= 0.10580E-14 Tdev= 94 ps
76884 s: Mdev= 0.11426E-14 Tdev= 51 ps
38442 s: Mdev= 0.18178E-14 Tdev= 40 ps
19221 s: Mdev= 0.24900E-14 Tdev= 28 ps
9610 s: Mdev= 0.34596E-14 Tdev= 19 ps
4805 s: Mdev= 0.47007E-14 Tdev= 13 ps
2403 s: Mdev= 0.66185E-14 Tdev= 9 ps
1201 s: Mdev= 0.98385E-14 Tdev= 7 ps

601 s: Mdev= 0.16702E-13 Tdev= 6 ps
3005:Mdev::037398E—13'I|'dev:=6psI
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